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Q-1. Subtract the first rational number from the second in each of the following:
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Q-2. Evaluate each of the following:
w2 3
0 3-5
2

i) =%

(i) 32— =

. -2 5
™) 53
=3 -2
™ =7
o4 =5
o) 355
ey S -2
(Vll) F -
eeen 13 12
(viii) =3
L6 7
) 373
7 19
X) 57— 36
oS -8
(&) =7
Solution:
o 2 3
O3-3
_ 25 33
3x5 5x3
_ 109
15 15
_lo9o_ 1
15 15
o 4 2
(i) ==
_ —4x3 _ —2x7
7x3 3x7
_-12 -14
T2 21
_ -lrd _ 2
21 21

(iii) %— =

Qgln

Jp e
& |
\|||

L



—2x9 _ 5
1x9 9
_Z18_5
9 9
_ -185 _ 23
9 9
=3 -2
=
_3x7 28
T 87 7x8
_21_ 16
36 56
_ 21416 _ 37
56 56
o 4 =5
o) 355
2 5
T oI3x2 26
_ -8 _ =5
% 2%
=85 -3
26 26
v =5 —2
o) -7
e B
14 Tx2
=5
14 14
o _
14 14

L 1312
(viii) 535
_ 13x5 123

15x5 12x3
_65_36

7575
_ 6536 _ 29

75 73
-6 -7
x) 5—73
3 g
7 19
(x) 7 36
_ 73192

24<3 3672
_a 3

7 72
_ 2138 _ 17

72 72

. 5 -8
(xi) &G a0

5 —8x3



363
524 29
63 63

Q-3. The sum of the two numbers is %. If one of the numbers is %, Find the others.
J

Solution:

It is given that:

The sum of the two numbers is %.

One of the number is %

Let, the other number be x.

1 _ 5 _5 1 _ 5 1x3 _ 53 _2
X+§—9$X 9—3$x 9—3X3$x 5 =X 3
Hence, the other number is %A

-1 -12
Q-4. The sum of the two numbers is 5 If one of the number is ) Find the others.

Solution: It is given that:

The sum of the two numbers is _3—1

.o-12
One of the number is =5

Let, the other number be x.

ax+t 2=ty =1 2= T2 o U
3 3 3 3
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Hence, the other number is

Q-5. The sum of the two numbers is 1—4. If one of the number is -5, Find the others.
5

Solution: It is given that:

. —4
The sum of the two numbers is =

One of the number is -5

Let, the other number be x.
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Hence, the other number is -

Q-6. The sum of the two rational numbers is -8. If one of the number is #, Find the others.

Solution: It is given that:

The sum of the two numbers is -8.

One of the number is —Tls

Let, the other number be x.

—8x7 15 —56+15 —41
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AX+ = (8> x=-8- = =x=

. —41
Hence, the other number is -
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Q-7. What should be added to —— so as to get %?



Solution:

It is given that:

The sum of the two numbers is %

.=
One of the number is e

Let, the other number be x.

7 _5 -5 -
Xt — T e X T — DX T —— —— —_———_—
X 8 9 X 9 8 X 9x8 8x9 72 72

. 103
Hence, the other number is =5

5
Q-8. What number should be added to T so as to get % ?

Solution:

It is given that:

The sum of the two numbers is —f

One of the number is I—f

Let, the other number be x.

=5 2
axt+ 2=
S T

f=2)

_ 26 -5 _ 26 —5%3 26 15 26415 41
PXT T T X T BT s
Hence, the other number is %.

B3 3;m X 3 33

Q-9. What number should be added to % to get _Tz?

3

Solution:

It is given that:

The sum of the two numbers is _3—2

. =5
One of the number is -

Let, the other number be x.

Hence, the other number is 2—11

Q-10. What number should be subtracted from _3—5 to get %?

Solution:

It is given that:

The sum of the two numbers is %

. =5
One of the number is =

Let, the other number be x.

-5 5 5 -5 5 =52 5 63 40+63
+ — == = = Z__ = = =
X 3 6 X 6 1033 X 6 3x2 X 6 72 72
Hence, the other number is -

Q-11. What number must be subtracted from %to get %?

7 5x§  =7x9 _ 40 —63 _ 40463

72
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Solution:

It is given that:

The sum of the two numbers is %

One of the number is %

Let, the other number be x.

.3 _5 _3 5 _ 34 57 12
CTTX T I RX T Iy PX T Ty 28

.23
Hence, the other number is -

Q-12. What should be added to (% + %) to get %?

Solution:

It is given that:

The sum of the numbers is I—?

One of the number is (% + %)

Let, the other number be x.

2.3 _ 2 _ 2 2 3 _ 2 2x5
..3+5+x 15:X 53 5=~X

Hence, the other number is _T7

Q-13. What should be added to (% + % + %) to get 3?

Solution:
It is given that:

The sum of the numbers is 3
One of the number is (% + % + %)

Let, the other number be x.

adpdpliy=30x=3-1 1 1 =330
27373 2

Hence, the other number is %.

Q-14. What should be subtracted from ( i— %)to get _6—1?

Solution:

It is given that:

.-l
The numbers is e

.32
One of the number is 73

Let, the other number be x.
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Hence, the other number is T

Q-15. Fill in the blanks:
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Solution:
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Let the required number be x.
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Let, the required number be x.
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Hence,T+T—3
15 _
@(iv) ... ... t5=4
Let, the required number be x.
5 _ P T SUNPEE SIS R SN RN - S TR
SXTF TASXT A S SXT Iy X T GO X T T 2 X T

37 , 15 _
Hence, 5 + =



